USN 15SME62
Sixth Semester B.E. Degree Examma
: %’%@s
Time: 3 hrs. f@ﬁ% w Max. Marks: 80
Note: Answer any FIVE full questions, chogsiiig ONE full question fragm, each module.
£ 1 a. Define automation. Explain differe ¢ (08 Marks)
E b. Explain the product life cycle math (08 Marks)
£
8
3 2 a. What is buffer storage? e the reasons for @p%;mentmg buffer storage in an
‘ § automated production lme’7 é Y f; Q (04 Marks)
g2 b. Jine without storage buffer. (03 Marks)
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£5 { Module-2 ~
e ® 3 a Explam@%he de51gn process usmg’“ %%‘puter aided de31g%§%th a neat block diagram.
£ 5 ' (09 Marks)
% k| b. (07 Marks)
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gog 4 a. nd list the advantages of CAPP. (08 Marks)
S5 b. (08 Marks)
§ 2
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g 5 a & (06 Marks)
T::_'g b. ‘lexible Mangf;éturing System. (10 Marks)
~ 8g OR -3
§ 5 6 a. Brleﬂy_ xp]am the follow* & 1) Minimum rational work element i) Precedence diagram
= \ f‘g; (06 Marks)
55 A a plant a product is to be assembled ag per the following information: (10 Marks)
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i) Constructg‘th@precedence diagram.
ii) Ifthe cyole time is 10 min. what is the number of stations required?
iii) Compute the balance delay of the line by using Largest Candidate Rule method.
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Module-4

7 a. What do you mean by cutter radius compensation in CN% %@%rammmg" Briefly explain.
9 (02 Marks)
b. Write different M-codes used in programming and the unctions. (04 Marks)

C.  Write a turning centre part program for the partg‘sggw in Fig.Q7(c). Use one finish cut and
rest rough cut to remove the material. Use the ffoﬂhwmg information.

Operation | Tool No. | Onset Register Cutting speed (m/min) Feed (mm/rev)

Rough cut | TO1 10 Cle® 200 ,

Finishing T02 12 300
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(10 Marks)

8 a. Sketchand explain commen ~gbot confi ourafls.“*é%; (10 Marks)
b. Mention the different typés’ of grippers. (02 Marks)

C. (04 Marks)

.....

¢ Mom =

9 a. What is addflmv%manufacturmg? ain the basic @%mples involved in additive
i (10 Marks)

Explain lead through m%oé of robot prog%;;mm1¥gy

4
b. List the adv%tages of additive ma t}f%cturmg &‘% (06 Marks)
%@QJ,
_. OR %)
10 a. Write anote on Internet of Things. A Y (08 Marks)
p

b. How these AM process
AJ) Binder Jetting .
Direct energy,[

carried out: #

(08 Marks)




